TLSO00 Reflection colorimetry, System WCGa, L*ABIJNDL*ABCh, Ynn = 0.0,L* N = 0.0 Y\wa = 88,6
Colourr g b L* C h A B X Y z X y

Ry 10 00 0.0 6727 6422 34 5293 36.37 5529 370 0.68 0.5947 0.3
Ys 1.0 10 0.0 8828 7167 92 -293 7161 67.94 7265 114 0.4794 0.5
Gy 00 1.0 0.0 80.67 100.16 153 -89.13 45.67 21.12 57.88 13.3 0.2288 0.
Cq 00 10 1.0 77.04 6424 214 -5295 -36.35 28.92 51.6 9579 0.164 0.2
By 00 00 10 4691 7166 272 294 -7159 16.28 15.95 95.34 0.1276 0.1
Mg 1.0 0.0 10 6227 100.13 333 89.12 -4565 63.09 30.72 83.18 0.3564 0.
NOg 0.0 0.0 00 0.17 0.0 0 0.0 0.0 0.02 0.02 0.02 0.3327 0.33
WQg 1.0 1.0 1.0 9541 0.0 0 0.0 0.0 84.21 88.6 96.49 0.3127 0.3
Nlg 0.0 0.0 00 0.17 0.0 0 0.0 0.0 0.02 0.02 0.02 0.3327 0.33
W1y 1.13 1.13 1.13 100.0 0.56 91 0.0 0.56 95.06 100.01 108.3 0.3133 0.3
Zly 0.18 0.18 0.18 495 0.1 82 0.01 0.1 17.12 180 19.5 0.3134 0.3
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